Answer Key for Review Packet 1.  Scientific Inquiry
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6)  3

2) 1
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3) 2







4) 1

5) 2

8. Have ALL the students squeeze the clothespin at rest, do the jumping jacks and then squeeze the clothespin again.

9. Question:  Does the drug increase the amount of BDNF being made?

Hypothesis:  If the drug makes more BDNF the rats will have a better memory because research has been done that supports that more BDNF means better memory.

Control Group:  no drug

Factors kept the same:  the amount of the drug given to each rat, the weight of the rats, the age of the rats, the test that they take to find out how much BDNF is made

Dependent Variable:  the amount of BDNF made

10-12… based on the graph
13. The drab trout are better adapted to survive in cloudy water (less bright trout in cloudy water) and the bright trout are better adapted to survive in the clear water (less drab trout in the clear water)
14. 15mm

15. Three different possibilities:
a. Acidity of precipitation (pH)

i. Hypothesis:  if it is too acidic then the plants will not grow well because their enzymes will not work right

ii. Control group: neutral pH (7)

iii. Kept the same:  temperature and amount of water

iv. Independent variable:  acidity (pH)

	Acidity
	Plant Growth

	
	


v. Table:

b. Temperature

i. Hypothesis:  if it is too hot or too cold the plant will not grow well because their enzymes will not work right or the seed will not develop properly

ii. Control Group:  normal temperature that the plant would grow in

iii. Kept the same:  acidity and amount of water

iv. Independent Variable:  temperature

v. Table:  

	temperature
	Plant Growth

	
	


c. Amount of water

i. Hypothesis:  if the plant gets too little water it will not grow because it needs water to undergo photosynthesis and make food and if it is too much water, the plant will drown because it cannot get rid of the oxygen it is giving off.

ii. Control Group:  normal amount of water (water until soil is wet but not coming out the bottom of the cup or the seed is floating)

iii. Kept the same:  acidity and temperature

iv. Independent variable:  amount of water

	Amount of water
	Plant Growth

	
	


16. Question:  Does the goldenrod effect the growth of radish seeds?
Option 1: If you think it is harmful (bad) for the radish plant……

· Hypothesis:  If the goldenrod is harmful to the radish seeds then it will not grow well because of the chemicals in the goldenrod might be poisonous.

· Experimental group will have ground up goldenrod plants in the soil and the control group will not.

· the more seeds the more accurate the data:  if I use only 4 seeds and three of them are dead then my data will not be good.

· I will measure plant growth over time.

· If my hypothesis is right then I should see more growth on the plant without the goldenrod than the plant with the goldenrod.

Option 2:  If you think it is beneficial (good) for the radish plant
· Hypothesis:  I think the goldenrod plant will be good for the radish seed because it has nutrients in it and will be plant food for the radish seed.

· Experimental group will have ground up goldenrod plants in the soil and the control group will not.

· the more seeds the more accurate the data:  if I use only 4 seeds and three of them are dead then my data will not be good.

· I will measure plant growth over time.

· If my hypothesis is correct then I should see more growth on the plant with the goldenrod.

